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1.

2. The sum of the ages of a father and his son

(D) Nadir Shah and Aurangzeb

Read the following statements !
a. These regions are hot and receive
heavy rainfall throughout the year.

b. As there is no particular dry season,
the tree do not shed their leaves.

¢. These thick forests occur in the regions |

near the equator and close to the
tropics.
The above statements are referred to
(A) Moaist deciduous forest
(B) Mountain forest
(C) Mediterranean type of forest
(D) Tropical evergreen forest

is 45 ?ra Five years ago, the product

of the ages (in years) was 124. Find the
present age of son.

(A) ©years (B) 10 years

(C) 15 years (D) 5years

The battle of Karnal was fought between
(A) Nadir Shah and Shah Alam

(B) Nadir Shah and Mohammad Shah
(C) Shah Alam and Mohammad Shah
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(A

(B) Kai
(C) Fa
(D) Pai

" .l

raporation

(C) Air friction .
) Surface tensionofwater

. Which of the I'-ollnwig movements, the |
British Raj was shaken 1o its foundations
for the first time since 1857 first war of

independence ? :

(A) Swadeshi Movement (A) TSI iR

(B) Home Rule League Movement (B) &M & ot seEer
(C) Rowlatt Satyagraha (C) etz e

(D) Non-Cooperation Mavement {Dj__’m ECar)

________isused in the manufacture of at/,/__ﬂiﬂ%ﬁﬂfﬂrﬁﬂ'gﬁﬁmh
(A) Washing soda m ﬂﬁ?'ﬁl‘ﬂ
(B) Baking soda (B) afe Hel
(©) Brine ©) 7
(D) Baking pow (D) M EE
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4/2018 (1) (M18)
12. Gujari Mahal is located at
(A) Karnal (B) Hisar
(C) Ambala (D) Panipath

13. A corporate entity which was recently
bacame 2™ Trillion Dollar public listed
company in the world is

(A) Apple (B) Amazon
(C) Alibaba (D) Walmart

14. In which part of Himalayas do we find the

Karewa formation, a unique type of soil
formation ?

(A) North-eastemn Himalayas

(B) Eastern Himalayas

(C) Himachal-Uttarakhand Himalayas
(D) Kashmir Himalayas

15. Who plundered the peacock throne of Shah

Jahan ?

(A) Nadir Shah (B) Timur

(C) Ahmad Shah (D) Abu Al (C) EHa I8 (D) ¥ et
18. The values of x and y satisfying the 186. f,,iﬂﬂiﬂﬂ‘ﬂ 6(ax + by) = 3a + 2b 3R

equation 6{ax + by) = 3a + 2b and /" B(ox—ay) = 3b - 2a F TR # * ¥

6{bx - ay) = 3b - 2a are | xRy F R

: ! :

(A) Et::.vr,; (A) E=x.¥=l

(B) 1“§i-_7f'3 (B) x:%,y=3

(C) x=2,y=3 (C) x=2, y=3

(D) Mone of these

(D) ¥ | =ié 7

17. Find the number which is not like : 4
3 numbetrs. e other )4' .

Ay 20 (4=

a4 (A} 2a

18. Normally,Ina "Blﬂﬂraqun, 1 al filterate 18 :
in the kidney IS about __ litre/day. /-""’grg:ﬁ  UF TRy

_ _ i, 3 i
() 60 g ) -ﬁ“'mf%*%'mﬁ-"' |
(©) 180 (D) 8o _ (©) 18g (B) 120 |




(B) Border line betwesn North Korea and
South Korea

(C) Military exercise between South Korea.
and USA

(D) Military exercise between Russia and
North Korea

21. Which committee recommendead the
astablishmeant of the scheme “Damocralic
Decentralisation” in India ?

(A) Ashok Mehta Committee
(B) Balwant Rai Committee

(C) G.V.K. Rao Commitiee
(D) Gadgil Committee

22. The highest point of Momi Hills is known as
(A) Karoh Peak
(B) Garoh Peak
(C} Tosa Peak
D) Grasher Peak

23.

® va =
e N3 -4

w;s@--pwm rorlt Tescxisril v s, |
(A) Border line between North Korea and |
Russia !
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% Find the missing letters (?) fram the options
for 7, NPS, WYB, FHK, OQT
(A EGJ (B} DFJ
(C) CEH (D) GIK

25. Tha second baltle of Panipat was fought
betwesan Haemu and

(A) Aurangzeb
(B) Nadir Shah
(C) Akbar
(D) Timur

26. Cash reward for Inter caste marriage in

Haryana is
(A} Rs.10,000 (B8) Rs. 50,000
(G} Rs.75,000 (D) Rs.1,00000

27. Theidea of residuary powers with the center
in Indian Constitution was bormowed from

the Constitution of
{A) France (B) Canada
(C) Australia (D) UK

28, ‘There can be no spiril of self-govermment
about us, If we take away or allow othars

lo'take from the peasanits almast the whole | -~

of the results of their labour. Our salvation
can anly come through the farmer, Neither
the lawyers, nor the doctors, nor the rich
landiords @re going to secure i". The
thmmw

{A) Bhagath Singh

29, Which among the diSificts in Haryana has
highest population ;

(A) Gurgaon (8) f'mw
(C) Faridabad (D} Sin

A
LA by
- f.'/;;

24. 7,NPS, WYB, FHK, 0QT

(1) At |
(A) EGJ () ‘ORY
(C) CEM (0) Gl
25. T w1 g g% e el
&1 T |
(A) e
By e me
(C} AT
(0} ¥
26,/ fraron & siaidra frare ¥ fore 64
g 8
(A} %, 10,000 (8) %. 50,000
(C) % 75.000 (D) ¥. 1,00.000
27 W wfAae § #2 ¥ 5w e nfw
& & wfams & fem man |
(A) (B) #ATE
(€) smferm (D) T

28. 'uf} en =xw oy et ol ) el @
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T T o v = § | wem s
HE O A B o v B 1 A A 2,
7 e, 34 snfn s wi amdt e B T

v wieg waw FH1 = T |
(A) vl

B
(A) et (8) rfta
(€} wiamm (o) Foman




30.

31.

Which of the following form an AP 2
Al L2298
(8) 0.3,0.33,0.333, ...
(C) 2,2, 2V2,4,...

(D) 9.9+3,9+2/3 9+
It ‘TEST is coded as '84' then 'k
coded as
() 34 ® 43
(C) 45 (D) 44

Haryana government in i ,"?:
deciared that it will develc
as the smarnt city, o

(A} Gurgaon (B) Ambala

(C) Panipath (B) Thari

& Sk
e

50 J of heat is produced each second in
a 5 ) resistance. The potential dfarence

across the resistar is .- o ot L e
(&) V5o v (B) 40V (A) -."5_ v
(C) 5yioV (D) 1048 Vv (€} 5410V

Which of the lollowing countries doas nol Eﬁ'
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37. InAABC, AB=2./50m, AC = 10 em, 37, aABCH, AB =25 w41, AC = 10 'ﬂ’lﬂ
BC =45 cmihen 8 is BC =445 T (B B

(&) 120° B 80° (A] 120° (8) 60°
5 (e (C) 90° (D) 45°

38. Find the missing number in 1 |
B, 13,20,2, 40, 53 the sequence, |  38. gﬁnma zn.?qaaaﬁmmm

(A) 25 (B) 27 \
NS ) 25 B)
(C) 28 (D) 31 (©) 26 % ;?»
. T
' am“?:fﬁmm 39ty o iﬂi‘“” #m,
(R) Transparency in pensions. R
- ansparency in government results ) ﬁmﬂ‘mﬁﬁn‘ |
o - ®) sttt if wrafif
(e msﬁ -ﬂqﬁwﬁi{mﬁh |
10) i e o 8 e |
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(D) None of these

44, Drona, the teacher of Pandavas lought gr
side during Kurukshaetra war.
[A] Pandavaas (B} Dharma
(C) Kaurava (D) Lok

45. Ranjit sagar dam is constructed on whieh)

of the fallowing rivers ?
(A) Ravi (B) Sutlej
(C) Beas (D} Chenab

46. Gurgaon district of Haryana was formed n | ae

the year : :
(A) 1973 (B) 1966 el
{C) 1879 (D) 1995 (C) 1979

47. HM@'W+WW-—M3¢°,1Q ;
mwtunn!m wﬁmiﬁxwmt
(Aa) 1 By 2

€ 3 2 4

48. TF A mﬁﬁm#ﬂmﬁﬂmmﬁ
s s T 154 B | F i 5 Sf
4%, Faen
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56. Appmmmy
el ¢

(B) 28.317 litre/minute:

(C) 2B.317 fitrefhaur

(D) 28.317 litre/10 second.

57. Three cubes each of side 1 cm are joined

solid is
(A) Tem? (8) 14.cm’
(C) 3em? (D) 8Bcm?
58. 119" July was Monday, then 267 July of the

(A) Wednesday  (B) Tuesday
(C) Thursday (D) Monday
5. district is famous fDr

anﬁnw'inugmdﬁmm
(A) Ambala (B) Rewari

(C) Faridabad (D) Gurgaon
60. is the first governar of Haryana;
(A) Shri B. N. Chakraborty

(A) A, #\‘ 6
, (8) Shri Dharma Vira (8) . ql:fa‘ﬁ
y (C) ShriRA. S. Nanula ©) . 3, T,
-' (D) ShriG.D. Tapase D) . = amfr

1. mmm

81, Freafifira #i fenga «
I Jal Jawan Jai 1. Lal Bahadur

Kisan
lL Jﬁ.lnm!.m 2 al_qmum;
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2. Theriveryamunafiowsonthe
b *hqurﬂaryniHmm

# (A} Eastern (B) Northam
4 (C) Westem (D) Southem

Video ; Cassetie : - Computer : 7
{A) Resls (B) Floppy
(C) Recordings (D) Filas

84. The district of Ambala (s dependent for
irngation on
(A} Tubeweslls
(B) Canal
(C} Rainfall
(D) Multi channels

B5. To contest in local sell-gavemment |.e.,
anmwths and Municipalities, the | |
should attain is

minimum aga that one
A 20 (8 21
c :-_*E{!_ (D) 18

85, Wﬁ-mﬁmmmmﬂl

1/ AR T8 ¥ = 0
(A) 20

(C) 24

H- wmlmwm
_ (A Spices
: (C) Cabbage
:‘;: A- -

P 8 2. |
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qEdl 8 |
(A ®) 35
m afer () aft
?/ mmqyfﬁl
fifed : 88w« T 7
) b= (B) et
() feirdn (D) wR= |
?/mmﬁwﬁ!ﬁﬂtg winfed|
(A) T '
(B) T
(C) =mi
(O) @Ed 8 == g

8) 21
(D) 18

b 8 = x
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the blanks with 1he Correct options,

“They could have ¢
+Yes, 1-hea3rw been delayed i,

(A) could have

(B} could be

(C) could been

(D) couldn’t have been

The report is very critical and is clearty
(A) Intended 1o

(B) Intended to be

(C) Intended

(D) Intend to be

n the blanks with suitable forms of verbs.

. We_____(read) since 2 O'clock.
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